Kurumbapalayam (Po), Coimbatore – 641 107





Accredited by NAAC – UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$= \frac{3}{x+1} + \frac{3}{x+1} + \left(\frac{3}{x+1}\right)^{\frac{3}{2}} + \left(\frac{3}{x+1}\right)^{\frac{3}{2}} + \left(\frac{3}{x+1}\right)^{\frac{3}{2}} + \cdots$$

8 ingularilies :

The point x = a at which the junction 1(x) is not analytic is called a singular point

$$\text{Lot } f(x) = \frac{x-3}{1}$$

Hore z=z is a singular point.

Types of singularities

i) Isolated Singularities

The point x=a is said to be isolated singularity if the neighbourhood q x=a contains no other singularity.

Ex:

The junction is not analytic only at x = 3. X=3 is an isotated singularities.

ii) Removable singularity

A point z = a is called a removable singularities of f(x) if dt f(x) = a, finite....

$$f(x) = \frac{\tan x}{x}$$

Here z=0 is a singular point

et 
$$\frac{\tan x}{x} = \frac{\tan 0}{0} = \frac{0}{0}$$
 (indefinite finite)

Applying h-Hospital rule

It 
$$\frac{\tan x}{x \to 0} = \frac{1}{x \to 0} = \frac{1}{\cos^2 x} = \sec^2 0 = \frac{1}{\cos^2 0} = 1$$

It 
$$\tan x = 1$$
 (finite value)

Kurumbapalayam (Po), Coimbatore – 641 107





Accredited by NAAC – UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

The singularity x = a of f(x) is called a pole of there exists a tree integer in such that a martine project

It n=1 it is called a simple pole. It n=2, it is called a double pole.

$$f(x) = \frac{(x-1)(x+x)_x}{1}$$

The singularities are 1, -2

Take x = 1

Take 
$$x = 1$$

if  $(x-1) = 1$ 

Z=1 is a simple pole.

Take 2 = - 2

= = = +0 : === 2 is a pole q order 2 (double pole)

Essential Singularity

A singular point x = a is said to be an essential singular point q ((x) iz the Laurent series q (x) about = a possess q infinite number q terms in the principal part.

EX:

Here = 1 is a singular point At x=1,  $f(x)=e^{1/60}=e^{\infty}$  (which is not defined) Also X = 1 is not a pole (OA) nomovable singularity : x = 1 is an essential singularity

Kurumbapalayam (Po), Coimbatore – 641 107



## AN AUTONOMOUS INSTITUTION

Accredited by NAAC – UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

Raidua:

If 
$$x = a$$
 is an isolated singular point  $q$   $f(x)$  about  $x = a$ .

$$f(x) = \sum_{n=0}^{\infty} a_n (x-a)^n + \sum_{n=1}^{\infty} \frac{b_n}{(x-a)^n}$$

The co-efficient of b of 1 is called residue of fix) at x = a.

i) I) x = a is a simple pole than

Res 
$$\chi = \alpha$$
  $\chi(x) = \chi + \alpha$   $\chi(x-\alpha)$   $\chi(x)$ .

Problems under Residues:

1) Find the rasidue of the function of (x) = 4 at a simple pole.

Boln :

Ros 
$$f(x) = dt (x-a) f(z)$$
  
 $x \to a$ 

Res 
$$\frac{1}{x} = \frac{1}{x} = \frac{1}{x^3} = \frac{1}{2}$$

s) calculate the nesidue of  $f(x) = \frac{ax}{(x+1)^2}$  at it pole.

$$\frac{1}{2}(x) = \frac{(x+1)^2}{6}$$

Ros 
$$f(x) = \frac{1}{(n-1)!} \text{ if } \frac{d^{n-1}}{dx^{n-1}} \left\{ (x-a)^n f(x) \right\}$$

Res 
$$f(x) = \frac{1}{1!}$$
 It  $\frac{d}{dx}$   $\left\{ (x+1)^2 \cdot \frac{2x}{(x+1)^2} \cdot \frac{1}{2} \right\}$ 

$$= \frac{d}{dx} \cdot \frac{1}{2} \cdot \frac{$$

Kurumbapalayam (Po), Coimbatore – 641 107





Accredited by NAAC – UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$\frac{1}{8ap}: \frac{(x-1)_{5}(x+5)}{x_{5}}$$

z=1 is a pole q order 2. z=-2 is a pole q order 1.

Res 
$$t(x) = \lim_{x \to a} (x-a) t(x)$$

Res 
$$f(x) = dt (x+2) \frac{x^2}{(x-1)^2(x+2)} = \frac{4}{9}$$

Ros 
$$f(x) = \frac{(n-1)!}{1!} x \rightarrow a \frac{dx^{n-1}}{dx^{n}} (x-a)^n f(x)$$

Ros 
$$f(x) = \frac{1}{1!}$$
  $\lim_{x \to 1} \frac{d}{dx} (x-1)^2 \frac{x^2}{(x-1)^2(x+2)}$   
 $\lim_{x \to 1} \frac{d}{dx} \frac{x^2}{x+2}$ 

$$= 4t \frac{(x+2) 2x - x^2(1)}{(x+2)^2} = \frac{3(2)-1}{3^2} = \frac{5}{9}$$

Raidua wing Lawrent sories:

[Res 
$$f(x)$$
]  $x=a$  = co-efficient  $q$   $\frac{1}{x-a}$  in the Laurent series  $q$   $f(x)$  about  $x=a$ .

Problems:

1) Obtain the Laurent expansion of the function of. Both :

$$\frac{1}{2}(x) = \frac{(x-1)^{g}}{6x}$$

x=1 is a pole q order 2.

$$\frac{1}{2}(x) = \frac{\alpha_3}{\alpha_{+1}} = \frac{\alpha_3}{\alpha_1 \cdot \alpha_2} + \frac{\alpha_3}{\alpha_1} + \cdots$$

# OF INC.

## SNS COLLEGE OF ENGINEERING

Kurumbapalayam (Po), Coimbatore – 641 107





Accredited by NAAC - UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$= \frac{c}{(x-1)^2} + \frac{c}{1!} \frac{c}{(x-1)} + \frac{c}{3!} + \frac{c}{2!} \frac{c}{3!} + \cdots$$

$$= \frac{c}{(x-1)^2} + \frac{c}{1!} \frac{c}{(x-1)} + \frac{c}{3!} + \frac{c}{2!} \frac{c}{3!} + \cdots$$
Thu is the Laurent series expansion  $\frac{c}{3!} \frac{c}{(x)} \frac{c}{3!} \frac{c}{3!} = \frac{c}{3!} \frac{c}{3!}$ 

# OF INC.

## SNS COLLEGE OF ENGINEERING

Kurumbapalayam (Po), Coimbatore – 641 107





Accredited by NAAC - UGC with 'A' Grade

Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$= \frac{1}{qu} + \frac{8}{37} - \frac{5}{27} \left( \frac{u}{3} \right) + \frac{8}{27} \left( \frac{u}{3} \right)^{2} - \frac{3}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{37} + \frac{8}{37} \left( \frac{u}{3} \right) - \frac{12}{27} \left( \frac{u}{3} \right)^{3} + \frac{16}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{qu} + \frac{1}{27} - \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \frac{8}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{q(x-1)} + \frac{1}{27} - \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \frac{8}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{q(x-1)} + \frac{1}{27} - \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{q(x-1)} + \frac{1}{27} - \frac{1}{27} \left( \frac{u}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{27} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 - \frac{u}{3} \right)^{-1} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 - \frac{u}{3} \right)^{-1} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 - \frac{u}{3} \right)^{-1} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 + \frac{1}{27} + \frac{1}{27} \right)^{3} + \frac{1}{27} \left( \frac{u}{3} \right)^{3} + \cdots$$

$$= \frac{1}{27} \left( 1 +$$